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Bricks Test

Directions (1-10): 10 questions based on bricks are given, which are divided into subsections. Each
subsection contains 5 questions. In each subsection, 5 bricks are marked A, B, C, D and E. You have to
find out how many other bricks certain bricks are touching in the given questions. Mark the option in
the answer sheet.

fAder (757 1-10): 227 9 smemia 10 v 7w rw €, Sy 3wt # Ao g wew IrEs § 5 — 5w feu w
&l TUF ITEE H &l 5221 9T A, B, C, D UF E 3o g 3TT! Tg AT FAT g 1oh (a3 TT T | 3T = Fohae
T Sal F T X Tl gl 3L IEqhT § Al [AFhed &l [=iead Hil

Block - A /SU&<E - A

s

K

(A) 4
(B) 4
@3
(D)6
(E) 5

Q1. How many bricks are in contact with Bricks A ?
A et €3F & eaet F¢d 8-
(@)1
(b) 2
(c)3
(d) 4
(e)5

Q2. How many bricks are in contact with Bricks B?
B farat €2 ot wasf it 8-
(@1
(b) 2
(c)3
(d) 4
(e)5
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Q3. How many bricks are in contact with Bricks C ?
C faraett €31 i eqsf F7 i 8-
(@)1
(b) 2
()3
(d) 4
(e)5

Q4. How many bricks are in contact with Bricks D ?
D faraet €2 T Taet Fclt -
(@1
(b) 3
(c)6
(d)7
(e)5

Q5. How many bricks are in contact with Bricks E ?

E foraet £t ot et it 8-
(@)1
(b)3

(c)6
(d)7

(e) 5

Block - B /39S - B

(A)5
(B) 4
@2
(D) 6
(E) 2
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Q6. How many bricks are in contact with Bricks A ?
A Tt €37 = eq st w <l 8-
(@1
(b) 2
(c)3
(d) 4
(e)5

Q7. How many bricks are in contact with Bricks B ?
B faraeit €3 it easf Tt 8-
(@1
(b) 2
(03
(d) 4
(e)5

Q8. How many bricks are in contact with Bricks C ?
C Foraett 21 ot Toet FT 8-
(@1
(b) 2
(c)3
(d) 4
(e)5

Q9. How many bricks are in contact with Bricks D ?
D forat 21 at eaet Lt 8-
(a) 8
(b) 2
()6
(d)5
(e)7

Q10. How many bricks are in contact with Bricks E ?
E fhaet $21 1 ast 3T 8-
(@1
(b) 2
(c)3
(d) 4
(e)5
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Solution

S1. Ans.(d)

Sol. Correct answer is: (D) 4

In this diagram, Brick A touches four other Bricks:
Left: Brick 4

Above: Brick D, Brick 3 & Brick 5

AL WX E: (D) 4

TH 9@ H, 52 A 9 AT Sl &l gal &

T 22 4

FUT: 32 D,32 33T 5

S2. Ans.(d)

Sol. Correct answer is: (D) 4

In this diagram, Brick B touches four other Bricks:
Right: Brick 2

Left: Brick 1 & Brick E

Bottom: Brick D

gl I E: (D) 4

TH @ H, 22 B AT o 1 &l ol &
0 32 2

70 E2 1 AT T E

d=: 22D
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$3. Ans.(c)

Sol. Correct answer is: (C) 3

In this diagram, Brick C touches three other Bricks:
Right: Brick E

Above: Brick 1

Bottom: Brick 5

aersue e (0) 3

= 9 ¥, &= C A 9o 37 7 g 2
TM0: 32 E

FUT: 2T 1

q=: 225

S$4. Ans.(c)

Sol. Correct answer is: (C) 6

In this diagram, Brick D touches Six other Bricks:
Right: Brick 3

Left: Brick 5 & Brick E

Above: Brick E

Bottom: Brick A & Brick 4

el I E: (C) 6

TH AE |, 52 D B AT 221 &l ol &
0 32 3

0 g 53T S E

FIT 22 E

ez adivizg
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S5. Ans.(e)
Sol. Correct answer is: (E) 5

In this diagram, Brick E touches five other Bricks:

Right: Brick B & Brick D

Left: Brick C

Above: Brick 1

Bottom: Brick 5

aersu< e (E) 5 |

TH 9@ ¥, 3¢ E 914 o177 Sei &l gl o
TT0: ST BT 22 D

qIT: 22 C

AT e 1

$6. Ans.(e)
Sol. Correct answer is: (E) 5

In this diagram, Brick A touches five other Bricks:

Right: Brick 3

Above: Brick B, Brick D & Brick 1, Brick 6
qE IR (E) 5

TH A H, T2 A I =T 3 AT oAl B
TMU: 22 3

FUT: 32 B, 32 DARET 1,326

A -

=
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S$7.Ans.(d)

Sol. Correct answer is: (D) 4

In this diagram, Brick B touches four other Bricks:
Right: Brick 6

Above: Brick E

Bottom: Brick A Brick 3

T I E: (D) 4

TH AE |, 52 B AT AT 22 ol gal &
T 326

FUT: 32 E

f=:se A3

P
L~

$8. Ans.(b)

Sol. Correct answer is: (B) 2

In this diagram, Brick C touches two other Bricks:
Bottom: Brick 4 & Brick 5

T ITL&: (B) 2

TH @ H, 22 C T T 22 I gal &

f S 4w e s
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S9. Ans.(c)

Sol. Correct answer is: (c) 6

In this diagram, Brick D touches Six other Bricks:
Right: Brick 1 & Brick 2

Left: Brick 6

Above: Brick 5

Bottom: Brick A & Brick 3

qeI IR (C) 6

T 9 |, $2 D 9 37T $21 7 gl &
T ST 13T 32 2

qTu: 3T 6

I 225

= g AsiT sz 3

1 /
o
i

$10. Ans.(b)
Sol. Correct answer is: (B) 2

In this diagram, Brick E touches two other Bricks:

Right: Brick 4

Bottom: Brick B

gl I & (B) 2

TH @ #, 22 E a1 31+ 21 &l ol &
0 32 4

= 3= B
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